

R M M

ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro



Find:

$$\Omega = \int \left(\int e^x \cdot \frac{1+x+\sqrt{x+x^2}}{\sqrt{x}+\sqrt{1+x}} dx \right) dx$$

Proposed by Hikmat Mammadov-Azerbaijan

Solution by Adrian Popa-Romania

$$\because \operatorname{erfi}(z) = \frac{2}{\sqrt{\pi}} \int e^{z^2} dz$$

Now, we have:

$$\begin{aligned} \Omega &= \int \left(\int e^x \cdot \frac{1+x+\sqrt{x+x^2}}{\sqrt{x}+\sqrt{1+x}} dx \right) dx = \int \left(\int e^x \cdot \frac{\sqrt{1+x}(\sqrt{1+x}+\sqrt{x})}{\sqrt{x}+\sqrt{1+x}} dx \right) dx = \\ &= \int \int e^x \sqrt{1+x} dx dx \end{aligned}$$

$$\begin{aligned} \Omega_1 &= \int e^x \sqrt{1+x} dx \stackrel{t=\sqrt{1+x}}{=} \int e^{t^2-1} \cdot 2t^2 dt = \frac{2}{e} \int t^2 e^{t^2} dt \stackrel{IBP}{=} \\ &= \frac{1}{e} \left(t e^{t^2} - \int e^{t^2} dt \right) = \frac{1}{e} t e^{t^2} - \frac{1}{e} \cdot \frac{\sqrt{\pi}}{2} \operatorname{erfi}(t) + C \end{aligned}$$

Hence,

$$\Omega = \underbrace{\frac{1}{e} \int \sqrt{1+x} e^{1+x} dx}_{\Omega_2} - \underbrace{\frac{\sqrt{\pi}}{2e} \int \operatorname{erfi}(\sqrt{1+x}) dx}_{\Omega_3} + Cx$$

R M M

ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro

$$\begin{aligned}\Omega_3 &= \int \operatorname{erfi}(\sqrt{1+x}) dx \stackrel{t=\sqrt{1+x}}{=} \int 2t \cdot \operatorname{erfi}(t) dt = \\ &= t^2 \cdot \operatorname{erfi}(t) - \frac{te^{t^2}}{\sqrt{\pi}} - \int t \cdot \operatorname{erfi}(t) dt + \frac{1}{\sqrt{\pi}} \int e^{t^2} dt\end{aligned}$$

Thus,

$$\frac{3}{2}\Omega_3 = t^2 \cdot \operatorname{erfi}(t) - \frac{te^{t^2}}{\sqrt{\pi}} + \frac{1}{\sqrt{\pi}} \cdot \frac{\sqrt{\pi}}{2} \cdot \operatorname{erfi}(t)$$

$$\Omega_3 = \frac{2}{3}t^2 \cdot \operatorname{erfi}(t) - \frac{2te^{t^2}}{3\sqrt{\pi}} + \frac{1}{3} \cdot \operatorname{erfi}(t)$$

$$\begin{aligned}\Omega_2 &= \int \sqrt{1+x}e^{1+x} dx \stackrel{\sqrt{1+x}=t}{=} \int te^{t^2} \cdot 2t dt = \\ &= te^{t^2} - \frac{\sqrt{\pi}}{2} \cdot \operatorname{erfi}(t)\end{aligned}$$

Therefore,

$$\begin{aligned}\Omega &= \frac{1}{e}\sqrt{1+x}e^{1+x} - \frac{\sqrt{\pi}}{2e} \cdot \operatorname{erfi}(\sqrt{1+x}) - \frac{\sqrt{\pi}}{3e}(1+x) \cdot \operatorname{erfi}(\sqrt{1+x}) + \\ &+ \frac{\sqrt{1+x} \cdot e^{1+x}}{3e} - \frac{\operatorname{erfi}(\sqrt{1+x})}{3} + Cx + C_1\end{aligned}$$